pa =98
dmcp = 30
dlcy =10
spep =0

tl 4 == 6min
t2 4 := 4min
t3 4 == 4min
t4 4 := 10min
Xpp = 2100
xs 5 = 2100

Assignment to 6.2

IMCf := 3820

POHIf :

28600

POH2f := 11480

POH3f :

27540

POHA4f :

10600

ACf := 76326

SCf := 114489

DMC := dmcy-xpp + dmeg-xpg
DMC =

IMCv := 0.03-DMC

IMCv =

pohlv := 0.5min !

pg = 107

dmcepg := 32
dleg := 8

speg = 2

tlg = 4min
t2p == 2min
t3g = 3min
t4p == 8min
xpg = 4000
xsg = 3960
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MCv d
1mc 5 .= -dmc
A MC A
imcy =
POH1
pohl p := M
tlAXpA + tlBXpB
poh1, =
POH2
poh2, := A
tZAXpA + tZBxpB
poh2, =
POH3
poh3 p := A
t3AXpA + t3BXpB
poh3, =

A

ssignment to 6.2

poh2v := 0.3min !

poh3v := 0.45min !

pohdv := 0.3min !

POHl1v:

pohlv-tl y-xpp + pohlv-tlg-xpg

POH1v =

POH2v :

poh2v-t2 \-xpp + poh2v-t2g-xppg

POH2v =

POH3v :

= poh3v-t35-Xp + poh3v-t3g-xpp

POH3v =

POH4v :

POH4v

-t1

12

-t3

= poh4v-t4 5-Xpp + pohdv-t4p-Xpp

POHl1v

poh1g =

tlAXpA + tlBXpB

POH2v

poh2p :=

poh2g =

tZAXpA + tZBxpB

POH3v

poh3p :=

poh3g =

t3AXpA + t3BXpB
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POH4v
t4 5-Xpp + t4g-Xpp

pohd p :=

poh4, =

t4a

Assignment to 6.2

POH4v
t4 5-Xpp + t4g-Xpp

pohdp := tdp

pohdg =

mcp = dmcyp + imep + dlcp + pohl 4 + poh2 5 + poh3 5 + pohdp + spcy

mep = dmeg + imeg + dleg + pohlp + poh2p + poh3g + pohdpg + speg

MCOGSA = MCA"XSp

MCOGS := MCOGS 5 + MCOGSg

MCOGS, =
MCOGS =
ACv:= 0-MCOGS
SCv := 0-MCOGS
ACv
acp = m-ch
acy =
SCv
SCp = m-ch
SCp =

tCA:= mCA +acp + scp
Cmp = pp —1Cp

cmpy =

Cost-of-sales results accounting

CMA = CMA-XSp

MCOGSB = mCR XSy

MCOGSg =

ACv
ac = - -mcC
B Mcogs B
acg =
SCv
SC = - -m¢C
B Mcogs B
scg =

tCB = mcp + acpg + scg

cmp = pg — tcg

cmg =

CMB ‘= cmp-Xsp
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Assignment to 6.2

CM,

CM:= CM, + CMyg

CM =

CMg

Cf := IMCf + POHIf + POH2f + POH3f + POH4f + ACf + SCf

Cf=
R:=CM-Cf
R=
Total cost results accounting
SA = PAXSA
S,p =
S:= S, +Sg
S=

ICy = ch-(pr - XSA)

ICy =
IC:=ICp + ICp
IC =

TPA:= SA+ICA

TP, =

TP := TP, + TPg

TP =
MCOP p 1= mc-Xpp

MCOP, =

ICR = ch-(xpB - XSB)

ICg =

TPy =

MCOPy = meg-xpg

MCOP, =
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Assignment to 6.2

MCOP := MCOP At MCOPB
MCOP =
ACVA = ACA"XSp ACVB = acg-Xspg

ACVA = ACVB =

ACv:= ACv AT ACVB

ACv =
SCVA = SCAXSA SCVB = scg'Xsg
SCv, = SCvg =

SCv := SCVA + SCVB

SCv =

TCOP , := MCOP 5 + ACv, + SCvy TCOPR := MCOPp + ACvg + SCvp
TCOP, = TCOPg =
TCOP := TCOP 4 + TCOPy
TCOP =
CMy = TP, - TCOP, CMp = TPy - TCOPy
CM, = CMg =
CM:= CM, + CMg

CM =

R:=CM-Cf
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Assignment to 6.2

Legend:
Subscript A, B for products

p = Selling price

dmc = Direct cost of materials per unit
dic = Direct cost of labour per unit

spc = Special direct production cost per unit

t1 = Production time in Direct Production Cost Centre 1 per unit

t2 = Production time in Direct Production Cost Centre 2 per unit

t3 = Production time in Direct Production Cost Centre 3 per unit

t4 = Production time in Direct Production Cost Centre 4 per unit

xp = Quantity of goods produced

xs = Quantity of goods sold

IMCf = Fixed indirect cost of materials

POH1f = Fixed production overhead 1 (in Direct Production Cost Centre 1)
POH2f = Fixed production overhead 2 (in Direct Production Cost Centre 2)
POH3f = Fixed production overhead 3 (in Direct Production Cost Centre 3)
POHA4f = Fixed production overhead 4 (in Direct Production Cost Centre 4)
ACf = Fixed administration cost

SCf = Fixed sales cost

DMC = Direct cost of material

IMCv = Variable indirect cost of material
poh1v = Variable production overhead 1
poh2v = Variable production overhead 2

in Direct Production Cost Centre 1) per minute
in Direct Production Cost Centre 2) per minute
poh3v = Variable production overhead 3 (in Direct Production Cost Centre 3) per minute
poh4v = Variable production overhead 4 (in Direct Production Cost Centre 4) per minute
POH1v = Variable production overhead 1 (in Direct Production Cost Centre 1)

POH2v = Variable production overhead 2 (in Direct Production Cost Centre 2)

POH3v = Variable production overhead 3 (in Direct Production Cost Centre 3)

POH4v = Variable production overhead 4 (in Direct Production Cost Centre 4)

imc = Indirect cost of materials per unit

poh1 = Production overhead 1 per unit

poh2 = Production overhead 2 per unit

poh3 = Production overhead 3 per unit

poh4 = Production overhead 4 per unit

mc = Manufacturing cost per unit

MCOGS = Manufacturing cost of goods sold

ACv = Variable administration cost

SCv = Variable sales cost

ac = Administration cost per unit

sc = Sales cost per unit

tc = Total cost per unit

cm = Contribution margin per unit

CM = Contribution margin

Cf = Fixed cost

R = Result

S = Sales (value), turnover

IC = Change in inventory of finished goods

TP = Total performance

MCOP = Manufacturing cost of goods produced

TCOP = Total cost of goods produced

—_~ o~~~

a62e01.mcd



